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General Instructions :
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(i)  All questions are compulsory.

(i)  This question paper consists of four Sections A, B, C and D. Section A contains 8
questions of one mark each, Section B is of 10 questions of two marks each, Section
C is of 9 questions of three marks each and Section D is of 3 questions of five marks
each.

(iii) There is no overall choice. However, an internal choice has been provided in one
question of 2 marks, one question of 3 marks and all the three questions of 5 marks
weightage. A student has to attempt only one of the alternatives in such questions.

(iv)  Wherever necessary, the diagrams drawn should be neat and properly labelled.
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1. Name the type of cell division that takes place in the zygote of an organism
exhibiting haplontic life cycle. 1

THIYTERT ST & S/ W& T AT fAREy it ueh U STaeiy & graest W 2idr a3 svar & ey
ST SHe-T5k BT |

2. Wirite the scientific name of the microbe used for fermenting malted cereals and fruit
juices. 1

39 Geusiie 6 A 9 TRy e SwahT areeger oSt qur el % 7@ %1 e
F H AT ST g |

3. Write the unit used for measuring ozone thickness. 1

TSI &Y HISE il 9o | fore Tars 1 suai fvar san € 2

4. Name the event during cell division cycle that results in the gain or loss of
chromosome. 1

aﬁﬁmﬁﬂww%wgﬁmﬁwmwmﬁﬁ@qﬁuﬁwﬁmmw
3T B AT € |

5. How can bacterial DNA be released from the bacterial cell for biotechnology
experiments ? 1
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SECTION - A
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1.  Name the type of cell division that takes place in the zygote of an organism
exhibiting haplontic life cycle. 1

HITRT FI9ToTT % 3T YT 7 1 fAiay ST Uk U STaert o graesT 9 grn ran s € e
ST STe-3h BT § |

2. Write the scientific name of the microbe used for fermenting malted cereals and fruit
juices. 1
3G S BT I T fefgn (et SUaiT Aioegsrm SISt a7 Hell % 39 I v
HH W R ST Y |

3. Write the unit used for measuring ozone thickness. 1

3TST ! HISTE i 910 A [ ThTS 1 3UAIT fohal STrar € 2

4. Name the event during cell division cycle that results in the gain or loss of
chromosome. 1

SHRTRI-[TIIST T56 o IR &F aTell 3W 2T 1 T ferfay Sred oRge it 9& 9 S
3TTaT 5 ST # |

5. How can bacterial DNA be released from the bacterial cell for biotechnology
experiments ? 1
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6.  Write the importance of cryopreservation in conservation of biodiversity. 1

e fafereren & geegor § ey A aiieyor st geve fofau |

7.  Mention the role of the codons AUG and UGA during protein synthesis. 1
WEF-Hyesor § AUG @2 UGA HIEHT Fl 9T 9arsy |

8. Normally one embryo develops in one seed but when an orange seed is squeezed
many embryos of different shapes and sizes are seen. Mention how it has happened. 1

TAIE: U S5 & oY U Y07 S9aT &, W 99 Gal % TR SIST bt e ST § ot 396
IR T STETT-SToTT U SR WIet F oteh ot et € | SraTee, U S gt ' 2

SECTION -B
Qg - B
9. How do histones ac-quire positive charge ? _ 2
T I e ST fohg Wepr T B § 2
10.  Why is CuT considered a good contraceptive device to space children ? 2

ﬁaﬁﬁmgﬁaﬁ%f‘mcwﬁwmmﬁmmﬁmm%?

11. Differentiate between albuminous and non-albuminous seeds, giving one example of
each. 2

T T UH-UF IETE0T T, Uegfiett aerm R-Uegivett sl & ot emsu |

12.  Explain the process of RNA interference. 2
RNA ot % afran gwsisy |
13.  List the key tools used in recombinant DNA technology. 2

TS DNA SEifie! 5 19 one a1el qed Srl-Qre s1-s1 €, ) 980 |
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14.  Name the two types of immune systems in a human body. Why are cell mediated and

15.

16.

humoral immunities so called ?
OR

Write the scientific names of the causal organisms of elephantiasis and ringworm in
humans. Mention the body parts affected by them.

TS IR U 9 916 31 TR & Woeedl §F 397 8, 919 [oRau | ifsreer Aiesd wfawer qer
A WAL o 3 A = ol e 2

et

el § veiiag a9 €18 A1 1 41 0 Aot e % AR A e | T YRR R R 9
T eniferd g €, STy |

Justify with the help of an example where a deliberate attempt by humans has led to
the extinction of a particular species.

ferelt T faRTee STremrTie (WIS 1 SIMEROT S ST T Fa e TR Tel e fF
IHFT [IANH A gRT STH-931 Y 6 T 9T | e € 7

Identify A, D, E and F in the diagram of an antibody molecule given below :

»,

—B
] D-chain
C

7_.'_.'

/|

E-chain

/

F
Bond / Bridge B

el fed 1 ¥ U2l-aifel (afafte) a19] % @ # 9T A, D, E e F w1 €, m fofteg -
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17. Study the graph given below Explain how is oxygen concentration affected in the
river when sewage is discharged into it. 2
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18. Explain how a hereditary disease can be corrected. Give an example of first
successful attempt made towards correction of such diseases. 2

ot Uk SR T S H 3 TR ST Wehar €, TEEET | U A o WE heA i e § we
B WHET WA ST ISR AT |

SECTION-C
Qug - C

19, Draw a diagram of a male gametophyte of an angiosperm. Label any four parts. Why
is sporopollenin considered the most resistant organic material ? 3

et T URTEe (EaErsT) & TR FHBHEME H NG S0, | TH H uR A #
WW[W@@&WWWWH&WW%?
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How are dominance, codominance and incomplete dominance patterns of inheritance

different from each other ?

ST o T, WETE T STaeqoT HTEl IR - § R W e Bl € 2

The base sequence in one of the strands of DNA is TAGCATGAT.

(M)

(i1)
(iii)

Give the base sequence of its complementary strand.
How are these base pairs held together in a DNA molecule ?

Explain the base complementarity rules. Name the scientist who framed this

rule.

DNA % T TS H oW 3150 30 TR & : TAGCATGAT

(M)

(1)
(iii)

(a)
(b)

(2)
(b)

T R TSSIh T ¥ STHH Farey |
el DNA 3107 3 99 SIS {6 TR IRER Uh-38X 9 o7f1-578 T § 7
S QT T TURIRT | 39 Y B 1 91 S S A A |

Sickle celled anaemia in humans is a result of point mutation. Explain.

Write the genotypes of both the parents who have produced a sickle celled

~anaemic offspring.

wrerEl o UrE ST S St ShSTeRT SRRl U g Seaiere s OO Bl ¥ | SHEEy |
3 AT ATAT-aT & ST fefay e ue et iR S e g a o

What is inbreeding depression and how is it caused in organisms ? Write any two

advantages of inbreeding.

IS éidﬂ?dﬁﬁ%ﬁd%ﬁ?ﬂ%'?ﬁﬁﬁﬁm%? TS F IS & ey fetgu |

(a)

Identify @ and (B) illustrations in the following :
5-Gr— -3

(i) |
3I_CTTAAG-5
i i1 § 1




(i1) ' Plasmid

’ e Replication
e

Write the term given to @ and @ and why ?

Expand PCR. Mention its importance in biotechnology.

frafota ssmRon 8 (A) aen B) = €, ffian ;

oy
5'—(|}r——Aﬂ-3'
)
3-CTTAAG-5
©
(ii) ’ Egli et
S i

>
@) ¥R (© =t 1w U ey = fearr o1 & 39 w4 2
PCR ! Q-9 fafiy | S wreiifirept % seesr r e &, fflaw |

Gas

(&)

(Ck gt
—— Digestor

\___/

The diagram above is that of a typical biogaé plaht. Explain the sequence of events 3

occurring in a biogas plant. Identify a, b and c.

(b)
(c)
(@)
(b)
(©
25.
57/1/1
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26.
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Fqx e T fe W we wfe S S S T g | ST §F ° afed g are gedl-
T GHEET | a, b 3R ¢ 41§, TEEH Y Ay |

How can crop varieties be made disease resistant to overcome food crisis in India ?
Explain. Name one disease resistant variety in India of :

(a) Wheat to leaf and stripe rust
(b) Brassica to white rust
OR
Write the source and the effect on the human body of the following drugs :
(i) Morphine
(i) Cocaine
(iii) Marijuana
et e e R P 3 fore T e e 6 Bt SR s o e & 2
TSR | AR § Freieraa w ueh-ueh AT-afRi e A e

(a) &, oI e TRy W (fRg) o wid
(b) 3= =, v fpg S wfd

3qdr
freffad it % G U6 T YRR W TS aret ST 7T 3 feE 7 fetfee ;
(@) |
(ii) iR
(iil) =igeTET




27. Name the type of interaction seen in each of the following examples : 3
| (i)  Ascaris worms living in the intestine of human
(i) Wasp pollinating fig inflorescence
(iii) Clown fish living among the tentacles of sea-anemone
(iv) Myecorrhizae living on the roots of higher plants
(v) Orchid growing on a branch of a mango tree

(vi) Disappearance of smaller barnacles when Balanus dominated in the Coast of
Scotland. '

e S3TeRoT § ¥ Uoid § gl STH arelt IREEh fsrat 1 - fofe
(i) s sy 3 e v @ ki P

(i) 7SR o I T WIRTT FIA W |

(i) TR WA % T & S 18 W oS Hoen |

(iv) Feaay dil 3 <18l | W@ @ HEhREs! |

(V) 379 % 8T I A W I @ AR |

(vi) TRTeeis ¥ UF 0 T 4G & wE) 8 ST W S ST T @ |

SECTION-D
ueg - D
28. (a) Draw alabelled diagram of the human female reproductive system. 5
(b) Enumerate the events in the ovary of a human female during :
(i) Follicular phase
(i) Luteal phase of menstrual cycle
OR

(a) Write the specific location and the functions of the following cells in human
males :
(1) Leydig cells
(ii)  Sertoli cells
(iii) Primary spermatocyte

(b) Explain the role of any two accessory glands in human male reproductive system.
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(b)

(2)

(b)

HIE TIET S A ST U AR ST S50 |
TS 1T ¥ ST § ofe =5 i Freetiad wrereret 3 S 2 Al geA e :
(1) g e e
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T RS-0 W ORI ST Sl el &) Seraeh Ui iR Sy |

Explain the salient features of Hugo de Vries theory of mutation. How is Darwin’s
theory of natural selection different from it 7 Explain.

(a)

(b)

OR

Name the primates that lived about 15 million years ago. List their
characteristic features.

(1)  Where was the first man-like animal found ?

(i) Write the order in which Neanderthals, Homo habilis and Homo erectus
appeared on earth. State the brain capacity of each one of them.

(iii) When did modern Homo sapiens appear on this planet ?

T T ST 3 TR (SiaeH) Tagia % T% wee] Tueiey | 308 SIfaw i Ml avor &
Togia o WehR R BT &, Jeese |

(@)
(b)

uET
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() o8 vEen aWa | MHerar-Sjerar Hoft st ar T o 2
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30.
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(2)
(b)

@)
(b)

(2)
(b)

@
(b)

Explain primary productivity and the factors that influence it.

Describe how do oxygen and chemical composition of detritus control
decomposition.

OR
What is El Nino effect ? Explain how it accounts for biodiversity loss.

Explain any three measures that you as an individual would take, to reduce
environmental pollution.
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